
ro ~ 
...c:: 
C/) 

-rj 

<C 
0 
(.I.. 

.8 
b..l) 
::: 
5 
0 u u 
<C 

N 
N 
0 
! 
2. 

l ~ .s. 
~ 
~ 

ro <C 
~ 0 

...c:: (.I.. 

C/) .8 -rj b..l) 

i..: ::: 
% ~ ·;:; 0 
V u u a::: <C 

.. 
2 
o z : z±iii 2 

- i;e%; -~ i 

2 ± z 

e z 
LU .... z 
0 
(..) 

....J 

....J e 



<!'. a 
ci.. 

E 
0..0 
s::: = 0 (.) 
(.) 

<!'. 

<!'. a 
ci.. 

E 
0..0 s::: 
5 
0 
(.) 
(.) 

<!'. 

(1) 

::0 
ro 
E- 
.:: 
-0 

# 
2 
ro 
VJ s:: .g 
u ro 
2 
% 
(1) 

> 
-0 ro 
1-o 

.2 
VJ s:: 
0 

-~ 
u 

t;:::: 
5 
0 
E 
% 
0 
-0 
-0 
(1) 
-0 s:: 
(1) 

E 
E 
0 u 
2 
(1) 
..s:: 
E- 

1-o 
0 
-0 
(1) u s:: 
ro > 
-0 
ro 
> 
crj 
u _g 
-5 
-~ 

b.!) 

b.!) E 
E. 
+ 2 g 

b.!) 

b.!) E 
E V) 

o 2 
9 

-0 s:: ro 

2 u... 
0 u... 
0 
tri 
0 u... 
0 u... 
(1) 

a 
0.. 
(1) 

~ ~ 
"l""" 

i 

2 ± 
3 
e 

s@ 
3 2 

~ 0 >-. ....... 
:-:::: -0 
ro s:: -o ro 
(1) VJ 

2 
0 ~ 
b:::=s 
h ........ - ..... ..._ 

."-...2... 

±gs .g ·.:::: 
g 22 
.c ~ § -~ 
r)S co -- ·- 
'O ~ t5 ~ 
= $ 2 O ....... s::: 

2 
& 5# 

a28 
35ze 
5; 
E °' >-. 
E 8 .g 
8 ~ 
~ ro N 

N (1) ~ 8 
i £+ 

1-o 
(1) u s u 

.:: 
VJ s::: 
.S: 

s::: .µ o ro 
·.;= (1) 
ro­ 
E .n a 
2 Ea 
s:: > 
- ro 

'O 
12 
'O = d2 e e 
0 
C.J 
42 a:: 

c a3 
0 > ·.;= (1) ~- 
- (1) 0 VJ 
VJ 0 
22 

1-o 
........ (1) 
• 2 
~ 0 
-0 - %z ..s:: (1) -5 s:: 

~ -5 

VJ 

5 > 
(1) 

.....:J 
(1) ; 
..s:: 
VJ 
0 ..s:: 
0... 
E 
2 
(1) 

r./)_ 

s:: 
0 
-0 
% ro 
.D 
2 ro 
2 u ..s 
% 
0 a 



3 
..c: 
C/) .... 
-0 
i..,; 
% ·;; 
<l) 

0. 
c 

> ...c:: 
0. ro 
ob 
0 
E 
.8 

Cl) 

E z 
2 
>--. ro 
E 

C 
Cl) 

-E 
5 
.5 
] 
ro 
..0 .... 
0 

C 
0 
E 
E 
0 u 
Cl) 

-~ 
g .5 
5 ~ 
E= 
0 C ~ u 
F5 
Ee 
C 
Cl) 
C 
ro 
§ 
Cl) 
P-. 

1-. 
Cl) 

...c:: 
5 
Cl) 

-E 
C 
0 

G... 
f 
-0 
C ro 
5 
-0 ·;; 
Cl) 
C 
0 

§ 

~ 
-E 
-~ 
-0 

% 
0 
..0 
Cl) 
-0 

5 
Cl) 

E 
0 u 
.§ 
t;::::; 

< Cl) 
> 
C 
0 u 
i3 
-0 
C 
;;j e 
"i 
.3 
a) 
>-- 
bb . 
-3 
c-ri ·;;; :l) 

C 
0 z 

6b 
.5 
a) 
..0 s 
Cl) 

-E 
.5 
2 
Cl) 

...c:: ~ 
% 
a) 
-0 
Cl) e 
% 
Cl) 
-0 

S; 
crj 

2 
ro 
r/) 

C 
2 
0 ro 
2 
% 
Cl) 
> 
-0 ro 
r/) 
;;j 
0 ·= % 
bl) 
C 

-~ 
.3 s 
Cl) 

...c:: r- 

1-. ro = u 
0 

CD 

1-. 
Cl) 

...c:: 
0 
Cl) 

-E 
C 
0 

G... = -0 a 
5 z 
Cl) 
C 
0 
C 
0 

1-. 
Cl) 

...c:: 
0 
Cl) 

-E 
C 
0 

G... = -0 
C ro 
5 
-0 ·;; 
Cl) 
C 
0 
C 
0 

T"" 

ui 



ro ~ -c:t: 
..c:: 0 VJ t.I.. 
-t3 2 i..: 
% bJ) 

C ·;; :.a (l.) 0 ~ 
c (.) 

(.) 

-c:t: 

-c:t: 
0 
t.I.. 

2 
bJ) 
C 

5 
0 
(.) 
(.) 

-c:t: 

..-ll")~..-..-oo..-0\MOO 

ll")O\t-0 
("f")..-..-..- 

\ONO--..-r-oo"<:j-N\00 
t-ll")"<:j-"<:j-"<:j-MMMNN..-..- 

~ 00 
2 
> 0 z 
0 
..D s 
0 
C 
"'O ro 
..c 
C/'.l c 
.92 ~ 
0. 
r- 
00 
a) 

-5 
+-< 
0 
a) 
C 
0 

C/'.l 
L-. 
a) 
"'O 

5 :-a 
a) 
>--, 
a) 

b.l} 
C :-a 
=i u .e 
C/'.l 

E= 
.92 ~ 
0. 

'5 

° "<:j- 

.5 
"'O 
a) 

t: 
=i 
(.) 
(.) 
0 
C/'.l 
C .g 
(.) 
ro 
2 
~ 
a) 
> 
"'O ro 
C/'.l 
=i .g 
a) 
(/) 



= (1) 

E 
(1) 
bl) 
ro 
C ro ~ 
(tj 
u s 
u 

= (1) 

E 
% ro 
C ro 
E 
(tj 
u 
:§ u 
I--, 

5 
-5 
-a 
C 
ro 
Cl') 

bl) 
3 
5 
I--, 
(1) 

...c:: 
0 
C 
0 

--< 
r./) 

0 
u.J > 
.....J 
--< co 
<-+- 
0 

5 e 
(1) 

(1) 

-5 
Cl') 
(1) 

-~ 
ro 
E 
E z 
\0 
(1) 

:0 
ro r 

1) 
> 
2 
(1) 

E ...c:: 
~ 
0 ...c:: 
0.. 

E 
2 
% 
5 
--< 
r./) 

c 
u.J > 
.....J 
--< co 
'5 
(1) 

5 
0 
0.. 
X 
(1) 

(1) 

-5 

5 
<-+- 
0 5 

°' u 
N 
0... >­ u 
<-+- 
0 

4 
r,J 
0::: 
a > ...:J 
4 
0:l 
= 0 
rJ1 
OJ) 
:::, 
J.. 
Q 
i... 
QJ -= 5 
gt 
0 ...... 
C'.,J 
QJ t: 
al 

...... 

rJ1 
0 -= Q.. 

s :::, 
J.. 
QJ 
r,J 



--< 0 
[.I., 

2 
t:l.() 
C 

5 
0 u u 
--< 

(]) 
c:: 
0 
1-o g 
-0 c:: 
ro 

< 
C/) ~ 
r.r.:i 
> 
_J 

< co 

--< 0 
Ci.. 

c 

~ 
CJ = : = 0-1) 
d2 
i.. , 

00 
"l""" 

tO 

:.......I 
"t 
:E 
.5 

(]) 

·5 u 
;:j 
-0 
0 a. 
2 
'5 
Cl) 
(]) 
(tj 
E 
:E 
·= 

--0 
(]) 

5a 
::0 g 
(1) 

C 
(]) 
(]) 
.D 

0 
C 
(1) 
> ro ..c 
Cl) c 

-~ 

E 
0.. 
u ·c ~ :.a 
(1) 
0.. 

·= < C/) 
c 
r.r.:i 
> _J 

< co 
4-, 
0 
Cl) 
Cl) 
(]) 
C 
(1) 

.2: u e 
(1) 

-0 
C 
ro 
c .2 
ro 
C/) 

-0 C 
C (1) ro (]) . 
(]) (1) 
-0 .D 
0 -0 
o t 
(1) (]) 
b.O Cl) 

ro .D 
4-, 0 
o 2 ~ (]) 

2 
(]) 
> 

-0 (]) 
(]) Cl) 

~ -5 ·B -~ 
Cl) Cl) 

2E= 
(]) 

C ·_,= 
(]) ro 
§ o.. 

~-§ ~ c_ 
-~ -g ~ 
o..°' a 
1-o 00 \..} 
r.8 0 ~ 
-0 ...... t: 
gs 
52$ 
E ci... ~ 

§ ~ -~ 
355 
5ft 
z55a 
gE 

- g-> E -; :.a-:: - c ro ro ·g_ 
~ ~ 2 .§ 

0 (]) 
-a E (tj 

(0 0 O C 
eoZbi)2 

=2gg2g 
-a cn o ro 
0 (]) - ~ 

55342 
o.. 2 o §-·c 
(]) ;:j O ..c ~ 
-5 iB ::0 ~ ~ 
g= ·c (1) -~ i-. (]) 

3s5?5 
cn E ..c~ § t:; 

7Zg c (tj -a ro~ .n 
ro o (tj ~ (]) 

(rj 

!.;:: ~ E ~ 
$52% (]) ro -a ro, 
54sg° 
#54?? 
2 g3 
5 -a • 5 
5}32s ,_; 
2g 5a 
- o E -a ~ ·o::.5 g 55 = 
'"7 Cl) 2 (tj -~ g 3?5 g 

d 45= ? 
~ (])OEI...-~ ...J 

e s72% 
5 =?% 

00 
tO 

(]) 

E 
ro 
C 

(rj 
u 
E 
(]) 
..c u 
(1) 
..c r- 

c 
(]) 

E + 
~ 
b.O c:: 
3 
:§ 
.8 
.2 a. 
:"§ 
c 
(]) 

0 
0.. 
(]) 

.2: u 
;:j 
-0 
2 
0.. 
2 
'= Cl) 
(]) 
(tj 
E 
2 
1-o 

r.8 
-0 
(]) 
-0 
C 
(]) 

E 
E 
0 u 
2 
Cl) 

b.O 
.§ 
3< 
>-.C/) 
0 
C Cl.J 
> Sn _J 

2< 
0... co 

< C/) 
0:::: 
r.r.:i 
> 
_J 

< co 

N 
rl 

z 
0 
E a, 
ii u 
rJl 
al 
Q 

c 
(]) 

:.a 
(]) 

Sn 
.5 
(1) 

.2: u 
ro 
(1) 

-5 
.D~ 

= t..;:; 
ro 
-0 

uJ 

4-, 
0 

Cl) 

(]) 
(tj 
E 
2 

c 
ro 
E 
0 
3 
c ro 
C 
b.O 
Cl) a. 
ro 

.8 

rl 
rl 

C ro u 

i < C/) 
0:::: 
r.r.:i 
> 
_J 

< co 



--< 0 
CL. 

E 

~] 
.S: ·= en Cl) 

25 
> 2 c:: Cl) 
ro -o 

.... 0 
~ E 
±e 
1d ~ 
0 bl) 

t;::::: 0 
:.::: c:: 
0. Cl) 
E X 
ro -o .... c:: 
en ro 
§ en 

--< 
0 
CL. 

E 
b.Q 
:::: 
5 
0 
(.) 
(.) 

--< 

"- .g 
en 
Cl) 

::0 s 
'"O 
Cl) 

1d 
0 
0 

E 
i:2: 
bl) 

E 

Cl) 

::0 s 
Cl) 
bl) 
Cl) 
> 

~ 
C-' 
0 
,..J 
0 u < ~ 
0::: 
<4 :c 
Q. 
,..J 
4 u z :s u 
N 

rt") 
rl 



-< 0 
lI.. 

E 
OJ) 
c:: = 0 () 
() 

-< 

Cl) c 
.2 
± a. 
.5 
..c 
:) 
N 
\() 
M 
0 
Cl'l ro 
3 
..0 

= !.;:::: ro ~ 
Q) 
(,._ 
0 

G:' 
:) 
~ 
Q) u 
C s ro 
Q) u 
E 
2 ro a. a. ro 
s 
g 
C ro 
Q) 

E 
Q) 
..c 
f-- 

Cl) 
E= 
Q) 

-~ 
a. 
.5 
Cl'l = 0 ..c 
°" V") 

Cl'l ro 
3 
..0 
:§ 
tE ro 
E 
Q) 

' 2 ± 
crj 
..c 
Q) 

.2: 
5 e 
Q) 

C ro 
Q) 

E 
Q) 
..c 
f-- JI ::::s 

0 

r- 
00 

g 
u 
Q) 

cil 
u ro = ro u 

.5 
"'O 
2 
Q) 
> 
0 u 
2 
Cl'l ro 
3 

"'O,........, 
C X 
ro g 
%- 
C 

·- C 
Cl'l 0 

a 
C e -~ c 
> 3 = C 
0 O u... u 

• °" bl) Q I 
0... 

I 

6 
5 
0 ..c 
\() 

2 
N 
Q) 
bl) 
C s 
Cl'l 
1-, 

::::s 
0 ..c 
10 
N 
Cl'l ro 
3 
2 ro g 
C 
0 

-~ 

= Q) u 
C 
0 u 
ro 
% ro 
0.. 
-2¢ 
ro 
Q) 
a. 
Q) 
> 
Q) ~ u ro 
g 
Q) 

5 
C ro 
5 
Q) 

2 

>--, ro 
E 
1-, 
Q) u 
::::s 
"'O 
.5 

°" u 
N ~ 
--< M 
0... 
>-­ u 
bl) 
C 

~ 

Cl'l 

E 
.2 ~ a. 
.5 
.......) 

°" N 
Cl'l ro 
3 
..0 

= ~ 
E 
Q) 
(,._ 
0 

_g 

~ 
£ 
5 
5 
Q) 

E 
::::s 
0 
> 
E= e ro a. a. ro 
C ro 
Q) 

E 
Q) 
..c 
f-- 

1./) 
.-I 



..0 

:§ 
EE= ro 
E 
(1) 

u 
.2 +-< ro 

B 
-0 
(1) u 
(1) 
0. 
X 
(1) 

(1) 1-, 

..c (1) 

t""" -5 
.0 

-q- +-< 
<l'.'. 0 
M 1-, 

0... 0 s 
@ 
(1) s::: o ro 
.§ 0 
.5 s::: 

0 

o.S 
:g '2 
X (1) 

B :§ 
~ e ~ 
0 o O 

~ ~~ v o ro 
o. s::: E ~ -~ _g 

a s::: ;:> (1) 
0 0 -0 
E (1) C 
I -5 E 

E 
0 

g <l'.'. 
-0 --- g 2 ~ 

2 82 
0 1-, 0 
0 (1) 0. 
S::: C\'.$ X 

~ 8 E .8 ~ E ~ -~ ~ .2 E ..o ~ E 
c ..o ro a g § ;:j 
~ ;:.. Cl') ..c ~ g -~ = 252 = » =s s ?a 
$ a a?Z 
# g 5g sg? 
~ g g .S ~ ~ 
= $ gs g? 
3ii43±? 
-1le 
~ -~ -0 ·;:: t -0 Cl') 

u uJ .s ~ ~ E 

s::: ro 
.5 
0 = (l.) 
bl) 

% 
ro u 
0 s::: 
Cl') 

ro 
3 
-0 

(l.) 
(l.) 

± 
E 
E 
0 

00 
rl 

r--­ 
rl 

00. 
al 
Q 
~ ~ 
00. 
..J 
< u z 
::3 u 



<t: 
0 c.r.. 
? 
t:.c) 
C 

5 
0 u u 
<t: 

<t: 
0 c.r.. 
2 
t:.c) 
C = 0 u u 
<t: 

C/'J ..c c 
0 ~ 

',::::t 
N 

4-.. 
a) 
..c 
rJ)_ 

..c 
0 
..0 = '"O 
(l) 

t 
0 
0.. 
2 
C/'J 

.g 
(l) 
s::: 
<1) 

0 
~ 
i:.r... 
0 
i:.r... 

c., z 
J 
Q z 
4 ::c 
Q z 
4 
al c., 
2 
0 ~ 
(J)_ 
Q 
al = Q.. 
Q.. 
:::i 
(J)_ 

~ 
0 ::c 
(0 

a 
0 
<1) 
> 

-~ 
<1) 

bl) 
0 a. 

'"O s::: ro 
<1) 
'"O 
G 
<1) 
s::: 
0 
s::: 
0 

~ 

C/'J s::: .::: 
5 s 
<1) 

.5 
::::3 

5 

0 
N 

C/'J 
C .g 
(.) 

£ ..s 
s::: ·u; 
0 
0 



'"O 
C: ro 
E 
::I 
.5 ~ 
0.. 

'"O 
C: ro 
Cl) 
(1) 
C: 
(1) 
bl) 

er::: 
u... 
0 u... 

::I 
0 
>-- 

:::3 
0 
>-> 
Cl) 

] 
1-. 
(1) 
'"O -►
0 
0. 

rl 
N 

·u 
-~ 
0 
E- 
crj 
t; 
u... 
0 
.D 
E 
lI.J 

27 SE 
23 5&g 

0. '"O Cl)~~ 

gs5z 
- Cl) - 0 ·- -+-' 2- 
~ 0 ~-g_ ~ gf ~ 
c c: § ~ ~ .§ $ 
gzs5Ev? 
?5gag5% 
25# 
: .g<g? 

c: ·- l.:: 4-, c ·.g -5 
ro o o o ::::s '- 
s7,±gg 
§ ~ ~ -~ § fr.: 
?± z <±.5; 
gi5, 

~~ »,§ § t § 
o.<!'.'.g ...... 5ti..... 
2 s852e­ g 5i55g = 
as??±? 



2 
ro u 
-5 
crj 
Cl) 
..c 
I-, 

:::::s 
0 
>, 

<( 
0 
lL. 

E 
b..O 
t::: s 
0 
() 
() 
<('. 

I-, 

:::::s 
0 
>, 

8 ~ 
crj 
r- 
~ ro s::: 
bl) 
Cl) 

0.. 

2 
0 
E 
0 u... 

C/l 
I-, crj 

s::: cu § g § 
-~ > ro >i-- 

s543 E o ro ro ~ 
,o s::: E ~ a. c +-' 

8.·- - ~ 
s& 

::::Sca.O>,c+-' 
0 ~ 1-o U CU O :::::S 

gz55& 
552=£Z 
·- ~ ..0 ~ Cl) 0 0 

2=52<sg 
=5so = >a 0 ,0 g342gE 
=£5?s 
;2g5±5 
45??2% 
sg2= 
.J .5 ro o Cf) g a. < 305 
=55=@ 
552== 
2°±3£242 

C/l C/l 

t5 t5 
5 

~ 8 '° .J- V> 00 '' X X 
0 0 
.D .D 
ro ro 
.5 .5 
..c ..c u u ro ro 
Cl) Cl) 

C/l C/l 

t5 Cl) ~~ 
8 8 
ob 01 
N 'tj- 

5 
C/l C/l 

]] 
crj crj 
3 

2_¢ .2_¢ 
u u ro ro a. a. 
% %2 
0 0 
-0 -0 
0 0 

3 r- r- 
1 I 

G... 
~ 
-0 s::: 
ro 
Cl) 
-0 ·u; 
Cl) 
s::: 
0 
s::: 
0 

7 
-5 
"j 
-0 

% 
0 
..0 
Cl) 
-0 
i 
Cl) ~ 
0 u 
.§ 
t;: 

< Cl) 
> s::: 
0 u 
13 
-0 s::: 
:::::s 
2 
5 
bl) 
s::: 
ro 
0 .g 
5 G 
~] 
ro +-' 
+-' 0 
bl) Cl) 

E -5 
-.:::j- s::: 

0 

C/l 

t5 ~ g 
'° V> 
4-. 
0 
X 
0 
..0 

G... 
f 
-0 s::: ro 
Cl) 
-0 ·en 
Cl) 
s::: 
0 
s::: 
0 

o 
-5 
-~ 

-0 

% 
0 
.D 
Cl) 
-0 
ti 
Cl) ~ 
0 s;:;t" 
U N 

E = x" 
Cl) 
> s::: 
0 u 
i3 
-0 s::: 
:::::s 
2 
i ~ 
0 

co 
cri 
t5 ~ s 
bl) 
E 

(Y) 
N 



<( 
0 
LL. 

E 
::!) 
t:: = 0 u u 
<( 

4 
0 
.D 
ro 
.5 
Cl) 

a) 
:0 .s 
00 
N 
·o 
~ 
crj 
3: 

d) < 
:-g ~ 
Cl) a. 

i ~ 
o--O 
(l) (l) 
..C C ........ 0 
§ I 

>-. 
3 
~ 
.5 
E 
--l 
0 
0 

""1" 
0 

v" v ..c u 
5 
C 
ro 
(/'J 

0 
b.l) 

0 
co 
C 

% 
C 
~ 
cj 
ro > 
ro 

% 
±3 
't u 
~ I 
c..,. C ::s (l) ; ~ 
±£g 

N 
N 
0 ~ N 

·c 
z ~ 

c.. ~ 4 < -~ u 
QJ Q ~ 
"'C 

al 

= ~ 
0 < -~ 
·;: 2 
QJ 

c::: rJJ. 
rl2 :2 :a « ~ 

.8 (l) .5 -5 c 4-,. t s 0 (l) 

c a. 
0 

X 
u 

(l) 

C 
.9 
0. 
E ;; 
C 
0 u 
Cl) 

--0 
C 
ro 

-5 
crj 
(l) 
..c 
I-. 
;:j 
0 
>-. 
Cl) 

0 C @ 0 0 

ro :§. ~ ~ -5 5 E • c ro :.2 g ~ ~ ~ .9 i!:! 
3: >-- 5 c -5 .g- -5 
s2Zs¢ 

5g82&= 
£$5??? 

-?25jg 
5j -E?2g 
Ej3it 
4.£=gr i4?gee? 

~ ·5 ~ -g_ E 8 8 ~ 

L.!) 
N 


